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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it) Question paper is divided into five Sections — Section A, B, C, D and E.

(iti) Section A — Questions no. 1 to 17 are Multiple Choice type questions.
Each question carries 1 mark.

(iv) Section B — Questions no. 18 and 19 are Source based questions. Each
question carries 3 marks.

(v) Section C — Questions no. 20 to 23 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions shall be
written in 80 to 100 words.

(vt) Section D — Questions no. 24 to 28 are Long Answer type questions. Each
question carries § marks. Answer to these questions shall be written in
120 to 150 words.

(vit) Section E — Questions no. 29 & 30 are Map based questions. Each
question carries § marks.

(viir) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix) There is no overall choice given in the question paper. However, an
internal choice has been provided in a few questions in all sections other
than Section A.

SECTION - A
Question no. 1 to 17 are Multiple Choice Type Questions. (17 x 1=17)
1. “Human geography is the synthetic study of relationship between human
societies and earth’s surface.” This definition of human geography is given
by . 1
(A) Vidal-de-la-Blache (B) Richard Hartshorne
(C) Ritter (D) Ratzel

2. Which one of the following is the core concern of geography as a discipline ? 1
(A) To understand population distribution and the factors affecting the same.
(B) To understand the relationship between resource distribution and its

utilisation.

(C) To understand the earth as the home of human beings and its
sustainability.

(D) To understand the earth as the home of natural resources and their
estimation.

3.  The concept of ‘Neodeterminism’ was introduced by i 1
(A) Ehrlich (B) C. Semple
(C) Griffith Taylor (D) Humboldt
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4. Read the following statements regarding outports carefully and choose the
correct option : 1

(1) These are deep water ports.

(1) They are built away from the actual ports.

(111) These ports are also known as ferry ports.

(1v) Piraeus is an example of outport for Athens in Greece.
Options :

(A) Only (1), (11) and (111) are correct.

(B) Only (1), (11) and (iv) are correct.

(C) Only (1), (111) and (1v) are correct.

(D) Only (11), (111) and (1v) are correct.

5. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1

Assertion (A) : ‘The chief gateways of the world are harbours and ports.’
Reason (R) : ‘Cargoes and travellers are transported through them.
Options :

(A) (A) 1s correct, but (R) is incorrect.

(B) (A) is incorrect but (R) 1s correct.

(C) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(D) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

6. Choose the correct option to fill the blank. 1

were originally developed for refuelling, watering and
collecting food items.

(A) Entreports (B) Ports of Call
(C) Packet Stations (D) Comprehensive Ports

7. Arrange the following towns of India as per their location from north to

south direction and choose the correct option : 1
(1) Nagpur (11) Hyderabad

(111) Madurai (1v) Lucknow

Options :

A) (@, (av), (), (1) B) @), v), (1), (1)

(C) v), (1), (), (1) (D) (), (), @), (11)
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8. Read the following statements regarding medieval towns in India
carefully and choose the correct option : 1

(1) About 100 of the existing towns have their roots in medieval period.
(1) Varanasi, Madurai and Prayag are some of its examples.

(111) Most of the towns were developed as headquarters of the kingdoms.
(1v) These are mostly fort towns built on ruins of ancient towns.
Options :

(A) Only (1), (11) and (111) are correct.

(B) Only (1), (11) and (iv) are correct.

(C) Only (1), (111) and (1v) are correct.

(D) Only (1), (111) and (1v) are correct.

9. Read the following statements related to international trade of India
carefully and choose the correct option : 1

(1) India has a long coastline surrounded by ocean from three sides.

(1) Indian coasts have large number of well-developed sea ports.

(111) Kandla port exports huge amount of iron-ore.

(iv) The transportation cost by water is very cheap for voluminous items.
Options :

(A) Only (1), (11) and (1v) are correct.

(B) Only (1), (11) and (111) are correct.

(C) Only (1), (111) and (iv) are correct.

(D) Only (1), (111) and (1v) are correct.

10. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1

Assertion (A) : ‘The agriculturally rich states of Punjab, Haryana and
western Uttar Pradesh are facing the crisis of groundwater
depletion.’

Reason (R) : ‘More groundwater is utilised for irrigation than water-
table recharge.’

Options :

(A) Both (A) and (R) are correct and (R) is correct reason of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct reason of (A).
(C) (A) 1s not correct, but (R) 1s correct.

(D) (A) 1s correct, but (R) 1s not correct.
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11. Read the following statements related to Indira Gandhi Canal Project
carefully and choose the correct option : 1

(1) Indira Gandhi Canal project was conceived by Kanwar Sain in 1950
and it was launched in 1961.

(1) Introduction of canal irrigation has brought perceptible changes in
the agricultural economy of the command area.

(111) Spread of canal irrigation has led to increase in cultivated area and
crop intensity.

(iv) Traditional crops of jowar, bajra has been replaced by rice and wheat
etc.

Options :

(A) (1), (11) and (1v) only are correct.
(B) (1), (11) and (111) only are correct.
(C) (1), (111) and (iv) only are correct.
(D) (1), (111) and (v) only are correct.

12. The watershed management programme in Jhabua district of Madhya

Pradesh is funded by which one of the following ministries ? 1
(A) Rural Development (B) Environment
(C) Transport (D) Irrigation

13. Local names like Panna, Para, Palli, Nagla, Dhani etc. are examples of

which of the following types of rural settlements in India ? 1
(A) Clustered settlement (B) Semi-clustered settlement
(C) Hamleted settlement (D) Dispersed settlement

14. Why is it that slums are the areas of residence with least choice ? Choose
the correct options : 1

(1) They have dilapidated houses with poor ventilation.

(1) The basic facilities like lights and toilets are difficult to get.
(111) Hygienic conditions and drinking water are improper.

(iv) Better drainage facilities are available.

Options :

(A) Only (1), (11) and (111) are correct.

(B) Only (11), (111) and (1v) are correct.

(C) Only (1), (111) and (iv) are correct.

(D) Only (1), 1) and (iv) are correct.
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FreferRaa dforent w1 SIYE® 31 SHIfSTT 3R T 9. 15 & 17 o I fetfien :

WA T fid 99eq : 2009-2017

(Fraria § wiera 37
e /A 2009-10 | 2010-11 | 2015-16 | 2016-17
Y T qHT 3G 10.0 9.9 12.6 12.3
I T @S 4.9 4.0 1.6 1.9
faffia a=qd 67.4 68.0 72.9 73.6
U o TR 301G 16.2 16.8 11.9 11.7
I L 1.5 1.2 1.1 0.5
15. Tr=fafaa # @ frg oft 1 aga1i < 3faria 2010-11 § 2016-17 7o Fid 7 gig <&@t
TS ? 1
(A) PN T qHaT IcTe (B) 3% IR @RS
(C) Uiferem 9 STaitsha 3TQ (D) = T
16. frefofaa # & form sioft 6t st & frafa o fia afg fearh et 2 2 1
(A) PN v Gweri 3eure (B) rEh ARG
(C) faffia swqu (D) 3T
17. Tafefaa o @ forg soft <6t axgati & f=id § 2015-16 & 2016-17 a6 Afeehay ke
TAHITE R 2 1

(A) HY Td wHerfi IcTg
(C) Uiferem 9 STaRsha 3TQ

(B) 37F=h U @S
(D) 3= el
g - g
T3 HEAT 18 T 19 Eiq-TRa W97 € | 2x3=6)
18. freferfaa difetent 1 eamgdes 316 hifTe 37t 35eh 1= feu e wei <1 3R i - 3

G Y A e /=T
Y 0 Y-IT=RT foifén sowa s | avea SN I g
yfewra 1 yfoera
o 1950-51|2014-15 | 1950-51 | 2014-15
Y I SR 8.0 4.0 13.4 6.8
T WAt g 6.1 3.6 10.2 6.2
AT T 3.7 4.9 6.2 8.4
Treret s &= 41.7 45.5 70.0 78.4
Hehet Y AT I 59.5 58.0 | 100.00 | 100.00
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Study the following table carefully and answer the Question No. 15 to 17 :

Composition of India’s export : 2009-2017
(Percentage share in exports)

15.

16.

17.

Commodities 2009-10 | 2010-11 | 2015-16 | 2016-17
Agriculture and allied products 10.0 9.9 12.6 12.3
Ore and minerals 4.9 4.0 1.6 1.9
Manufactured goods 67.4 68.0 72.9 73.6
Crude and petroleum products 16.2 16.8 11.9 11.7
Other commodities 1.5 1.2 1.1 0.5
Under which one of the following categories of commodities, the increase
in export is observed from 2010-11 to 2016-17 ? 1
(A) Agriculture and allied products (B) Ore and minerals
(C) Crude and petroleum products (D) Other commodities
Under which one of the following category of commodities, increase in
export 1s continuously observed ? 1
(A) Agriculture and allied products (B) Ore and minerals
(C) Manufactured goods (D) Other commodities
Under which one of the following category of commodities, maximum
decline in export is recorded from 2015-16 to 2016-17 ? 1

(A) Agriculture and allied products
(C) Crude and petroleum products

(B) Ore and minerals
(D) Other commodities

SECTION - B
Question no. 18 and 19 are Source-Based Questions. (2 x 3 =6)
18. Study the following table carefully and answer the questions that follow : 3
Composition of Total Cultivable Land
As a percentage | As a percentage
Agricultural Land use of Reporting of total
Categories Area cultivable land
1950-51|2014-15|1950-51|2014-15
Culturable waste land 8.0 4.0 13.4 6.8
Fallow other than current fallow 6.1 3.6 10.2 6.2
Current fallow 3.7 4.9 6.2 8.4
Net area sown 41.7 45.5 70.0 78.4
Total Cultivable Land 59.5 58.0 100.00 | 100.00
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(18.1) 1950-51 I o1 H 2014-15 H HiY A JfH H HH} o HRT 1 eoi 1T |

(18.2) 1950-51 =1 &1 H 2014-15 % SR JaHM Tl YW H Jhg o HROT I
3o ST |

(18.3) Taet oI 7w & W FRer gfg o T 6t = hifvw |

19. feu T 3rg=e o ey afeu 3R 35k = feu e i < 3 forfiaw
HREE TS HISH HIE

HIHG FXIAT o ST JT H TR T 319 St -Fatg @ fofe 31w < ardreen
W R ar | gt fea-frale € wehR & SRt gRI BT o ¢ (%) USI3Tl T 3TREe
ek 3TN (@) 379 T o ST & @ I ST N TG Shg—Te 317 <l TehiId i |

FnfeHeRTela THTe STeft wegati W el o | sifefia v st T wee % @
el AN ARG G - B & | qehrAleh! bt & RO Jafd Aa-Tg0
YRR & o &I T 7, T dead! &=l § @ arel 319 ot TSel! Tohed
SR B & | 739 RIAR o SR Sfd 6w TAfRi MA@ S TS E AT TR H | |
U{-hTeT & AREeeh TR IT TAhel o & TSI T R 3AT(E ohl FIANT ohid o, foad
TR A aTet T3 <hl T Hifhd Tt off |

ioH HUE W& 3T YTEhad 5i1d 3niies foramd & | fawa & fafty el & =g +ve
Tl Tt o fafim w0t 4 fohan Sran 8 | vieH Tug 1 ek Jorangfash gunmati 1 fon
JTAT 8 | 39 ARl ITTCHBTEA THIST o T Hid & | I AT 379 WIS, o6 Td 35
i STTETIhal <hl Gfd &g T Td SN 1 §UE HId & | 39 DM < [o1C g A Ioit
Tg {1 T ToRHIeh! T <Al STTEREhal Bl & | 390 WisH Aty +ff 72 & & w& fd
fe ScaTeehar it S il 7 |

(19.1) SHTeH T3 o 3799 AR o TG T TeoTeh hIFT | 1
(19.2) 3nfew et # g31ai 1 e Hifta w=i a1 7 = Hifvw | 1
(19.3) 3nfeHepTefi T 379+ Tefiy < arareret W R =i o 2 =men Fifw | 1
@ug -7
T HEAT 20 ¥ 23 AY-IHT ThR B T & | (4x3=12)
20. (a) fova & & foat W F@, ST 6l TcTedd 3R T Il hi Yfieht 6
T I | 3
YT

(b)  SHITIhehIT ThHUT TG <hl i FETST <hl 9@ HifvT | 3
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19.

20.

64/2/3

(18.1) Mention the reason for the decrease in cultivable waste land in
2014-15 as compared to 1950-51.

(18.2) Mention the reason for the increase in current fallow during
2014-15 as compared to 1950-51.

(18.3) Explain the reason of continuous increase in net area sown.

Read the passage carefully and answer the questions that follow :
Hunting and Food Gathering

The earliest human beings depended on their i1mmediate
environment for their sustenance. They subsisted on : (a) animals which
they hunted; and (b) the edible plants which they gathered from forests in
the vicinity.

Primitive societies depended on wild animals. People located in very
cold and extremely hot climates survived on hunting. The people in the
coastal areas still catch fish though fishing has experienced modernisation
due to technological development. Many species, now have become extinct
or endangered due to illegal hunting (poaching). The early hunters used
primitive tools made of stones, twigs or arrows so the number of animals
killed was limited.

Gathering and hunting are the oldest economic activity known.
These are carried out at different levels with different orientations.

Gathering is practised in regions with harsh climatic conditions. It
often involves primitive societies, who extract, both plants and animals to
satisfy their needs for food, shelter and clothing. This type of activity
requires a small amount of capital investment and operates at very low
level of technology. The yield per person is very low and little or no
surplus 1s produced.

(19.1) Examine the impact of poaching on wild animals.

(19.2) Why was hunting of animals limited in early times ? Explain.

(19.3) Why did early man depend upon his immediate natural
environment ? Explain.

SECTION - C

Question no. 20 to 23 are Short Answer Type Questions. (4 x 3 =12)

(a) Examine the role of climate, water availability and soil fertility on
the distribution of world population.

OR

(b) Examine three stages of demographic transition theory.
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21. TS STAHNT & HHH o1 3 hHIfT 30T 39k A= feu g o1 3o feifaw

_80° 79°30°

(21.1) 39 <N 1 9 TerRay fores UgT 78 1 ATrehie 9T 37T § | 1
(21.2) 391 &S o A forfaw e senfires &5 o1 8 7<) Siedt 2 | Y+ =1
(21.3) TS e} Torvar o1 waifies SUART 3R ST STeTT SoTawT &1 & 2 1

e : Trafeiaa w1 waa giEerita whefiE & fore s sem 21 F AW E |
(21.1) I S % TTH ol Ieoid hiTe, Fedl T STermnt 3™ ol A A IE a2 |

o

(21.2) 39 Y@ A -TH 1 19 foIRaw sref wEa et 3 amr o firerdi 2 | 1
(21.3) SUST oA TSN o &Y T TS 7S] o HExd bl TIE HIT | 1
22. YA Y UE HgmET 61 g fowara i = men i | 3
23. 9Ra 8 gt SfE (slums) s TEEISAT 6 TUTEH o foIu 3uTT s | 3
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21. Study the map of Rhine waterways and answer the questions that follow :

80° 79°30°

BELGIUM "™

80° 79°30°
Rhine Waterway

(21.1) Name the country in which most of Rhine river lies. 1

(21.2) Name two countries whose industrial areas are connected by river
Rhine. Yo+ %=1

(21.3) Why is river Rhine world’s most heavily used waterway ? 1

Note : The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 21 :

(21.1) Mention the name of the country from where the Rhine waterway
begins in the upstream.

(21.2) Name the major sea port where river Rhine falls into North Sea.

(21.3) Explain the significance of river Rhine as a water highway of

commerce. 1
22. Explain the main features of National Highways in India. 3
23. Suggest the measures to solve the problems of slums in India. 3
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24.

25.

26.

27.

28.

29.

Qg -9

U3 &A1 24 § 28 AH-ITOT THR B I € | (5 x 5 = 25)
(a) Tava o &2 Jum o fafmior e i g fosivansti 6 smen St | 5
AT
(b) Towa o 3= MeNfrEhy 3= 6t g fersmyaradt shi =men it | 5
‘THa foshm@’ 1 I@YREN @I TE T | AHE IR % IR TN T o
HINT | 1+4=5
(a) Tora srefemaen < faehm # HaT &= 6l gfg W6 7e™ &1 Jediehd hitv | 5
YAl
(b) Toa sreleraen § UiEs Td HaR Ha131i 31 9§ Td HEw 1 Yoo hiT | 5
(a) 1921 ¥ WRA H SHEEAT Jfg 1 foweiyur HifT | 5
YAl
(b) TohuTR SEEN o Ty | AT ga shi AR o fargeror hifs | 5

(a) “YRd o Gy U ol o R-TRATT |id e TuF ®9 9 foafia qum gieor-
IR & |” 39 HF o Tl T WRA hl T Sl hl Wi I I i § Afasy i

GUTSTAT T fergeiyur Hife | 5
GO
(b) “BTSA o TNl H AT Soll Ueh agR HId o ®T H 39T 8 |7 WA o Hey § 39
2 T forgeror il | 5
G g -§
I &A1 29 T 30 HHRE-ATHG 99 & | (2 x 5=10)

Torvar o Teriforer T@T-wHRE W AT Wimferss @evi ol A, B, C, D, E, F 31 G & ®4

T 3ferd foram TR B | 399 © Tohegl Ui bl ggaH shifore 3R 37eh Ty Wil 15 W1 W
3IeRT A fetfaw 5
S T U g I -uee

YR-HT3HTE {oTd 1 it &

Toh AU I-TH

TatEs wgu 1 uh &=

Teh Hewqul St

“TAITE TIERVT 1 Th &

Tereqa anforfSereh arTet iy 61 Tk &3

cEED QR
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24. (a) Explain the main features of large scale manufacturing industries in
the world. 5
OR
(b) Explain the main features of ‘High Tech’ industries in the world. 5
25. Explain the concept of human development’. Examine four approaches to
human development. 1+4=5
26. (a) Assess the growth and significance of service sector in the
development of the world economy. 5
OR
(b) Assess the growth and significance of transport and communication
services in the world economy. 5
27. (a) Analyse the growth of population in India since 1921. 5
OR
(b) With respect to adolescent population, analyse the challenges of
Indian society. 5
28. (a) In the Indian context, the non-conventional sources of energy are
more equitably distributed and are environment friendly.” In the
context of this statement, analyse the future prospect of India in
meeting its clean energy demand. 5
OR
(b) “Nuclear energy has emerged as a viable source in recent times.”
Analyse the statement in context of India. 5
SECTION - E
Question no. 29 and 30 are Map Based Questions. (2x5=10)
29. On the outline political map of the world, seven geographical features have
been marked as A, B, C, D, E, F and G. Identify any FIVE of them and
write their names on the lines drawn near them : 5
A. Major sea port in Germany.
B. Terminal station of Trans-Siberian Railway.
C. Aninternational airport.
D. An area of subsistence gathering.
E. An important waterway.
F. An area of ‘Nomadic Herding’.
G. An area of extensive commercial grain farming.
64/2/3 Page 17 ~ P.T.O.

SECTION -D
Question no. 24 to 28 are Long Answer Type Questions. (5 x 5 = 25)



Ae: FrafaRaa s Faa gfvanfa vt & forg wo7 d@m 29 & WA W E |
fereell utar =1 3 forflae 5x1=5

29.1 T % U T GHE -0 1 AW fotfEn |

29.2  UR-HIESIA WHE & ga8 et it vH o1 W fofen |

29.3  TfRAUT 3TSHIRT o Teh STAUTT ATY-TxHH 1 Ieoid ShIfT |

29.4 TSI o Ueh {Helg HUEY & 1 T feTRaT |

29.5  Tire o T mEwaqul Stermmt @ AW fRaw |

29.6  3THIehT o Ush TCTdTE! TIROT & T 7 feafau |

29.7  IAteforan % weh forga anforfSues 3T iy &= <1 A ferflaw |

30. feu mu W & TSIt War-wmta W fafaRaa @ 9 el i simifere weon
IR Fagl g guIisT 3R 3k A1 forflaw | 5x1=5
30.1 e # iig- 31k 6l Hewyu @

30.2  °h(cT 1 U HEw@qUl THE-T7H

30.3 TS 1 Teh disl bl @H

30.4 @R ¥ Ush qeAe HREHT

30.5 U H Ueh JIqUEH ag-uad

30.6 Gt SHEEHT O cd 91T Ueh Ty

30.7  SIg 3cdTGH H 3 Tk USA

e  fafaien w7 Saa gEfia waiiat & foe yw aem 30 F WA | E |
Topgi di o1 3T ferfa 5x1=5

30.1  3nfEe o U YEH <itg- 37k @ & i T foAfeT |

30.2  hTdl o Ueh &T G -UH o1 919 feIRaw |

30.3 TSR o eh ATe @ & ol ITH Jeoi@ ity |

30.4 foER T U dAINEA HR@H o LM 1 A1 faRaw |

30.5  USNE H 3H T 1 A foRaT ST&f T STRigH arg-To- fRa & |

30.6 T SHEEAT BFcd ool TsH Sl 9T fIRay |

30.7 S IcATE B i &1 T 3t B 7
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Note: The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 29. Answer any
five : 5x1=5

29.1 Name the major seaport in Germany.

29.2  Name the easternmost terminal station of Trans-Siberian Railway.
29.3  Mention an international airport in South Africa.

29.4  Mention an area of subsistence gathering in Canada.

29.5 Name an important waterway of Egypt.

29.6  Mention an area of nomadic herding in Africa.

29.7 Mention an area of extensive commercial grain farming of
Australia.

30. On the given political outline map of India, locate and label any five of
the following geographical features with appropriate symbols. bx1=5

30.1 Important iron ore mines in Odisha.

30.2 An important seaport in Kerala.

30.3 A copper mine in Rajasthan.

30.4  An oil refinery in Bihar.

30.5  An international airport in Punjab.

30.6 A state with highest density of population.
30.7 A state leading in the production of jute.

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 30. Attempt any
five : 5x1=5

30.1 Name an important iron ore mining area in Odisha.
30.2 Name the main sea port of Kerala.

30.3  Mention the name of a copper mining area of Rajasthan.
30.4 Name the place of an oil refinery in Bihar.

30.5 Mention the name of a place where an international airport is
located in Punjab.

30.6 Name the state with highest density of population.
30.7  Which is the leading state in the production of jute ?
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79T 4. 29 & foT gt

Map for Q. No. 29

uIpnQ : AT4OM
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7¥F 9. 30 & fotw Aetas
Map for Q. No. 30

s WA o1 AT Teleh WA
£ ™., .-  POLITICAL OUTLINE MAP OF

INDIA
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